IB Math 12 - Differentiation Practice Questions

1. Find the derivative of each of the following:
a) (Bz-7)"% b) sin(5z+2) ¢) In(2z—1) d) e*%*

&) VBET3 f) (6457 g ﬁ h) cos(l - 4z)

2. Find the derivative of each of the following:

a) In(sinz) b) sin(lnz) c¢) e °* d) cos(e™™)
1 1
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e) (sinz+cosz)® f) V1+a2 g) - h) =T

3. Find the derivative of each of the following:
a) In(sinz) b) sin’(lnz) ) eos(@z—1) d) [i+cos(a?— 1)

. Find the derivative of each of the following:

a) ztanz b) x%2e~* ¢) 5e%sin3z d) 3zY%cos2x

e) 22%(1+z)® f) o ?2(1+2%)? g) zesinz h) 7x3/2e~= cos 2z

5. Find the derivative of each of the following:

sin ¢ cos 2 +1 3z —4
2) x b) r? <) 32 —4 d) 2x+1
o= 3= x> -3 2z +1
— f) —— ——— h
&) z ) 2 +1 9) 2+ 1 ) 2 -3
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Answers

1.

a)

363z —=7)! b) Scos(5z+2) c)

—5__ p
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- =cotx
sinz

e™* sin (e™7)

siny

— =tanzsecz h)
oo
2cosw

- =2cotz b)
S

—3sin{3x — 1)

2y/eos(3x — 1)

zsectr +tang

5¢~2*(3 cos 3z — 2sin3x) d)

sin e~

2 2-3x
2z -1 d) —8e
4
o B2 si —
10(62 + 5) q) B h) 4sin(l —4z)
b) ctxs{itl.‘l?} 9

e) 3(cosz —sinz)(sinz + cosz)? f)

=2+ 1)

-2

2sin(Inz) cos{lnw)

@@+2z+1P (@+19

d) —3zsin(z? — 1) [1 + cos (a? — 1)]'/?

b) z(2—z)e=

gx‘ll 2 (cos 22 — 4 5in 22)

2051 + 2)*(6 + 112) f) —¥((1 +21)"2(2 + 1?)

x

V1422

e*[(1 + z)sinz +cosz]  h) g:rl/’e""(3oo52z — 82 cos 21 — 4z sin z)

Tcosx —sing —(zsinz + 2cosz) —-11 11

a? b) z3 ©) (3x —4)? d) (22 +1)?
(2z — 1)e* ) —(322 + 2z 4+ 3)e™ 2(2® + 7 +3) h) —2(z®> +1+3)
e (2% + 1) (2z+1) (2 — 3)



